Arboga BK

Varsilver 2016-04-21

Partavling, 7 bord, 14 par. Antal brickor: 26. Medel: 156.0.

Plac  Par Poéng % Namn MID Klubb

1 2 200 64.10  Tuve Olofsson - Bonje Rosengren 10119 7994  Arboga BK

2 5 186 59.62  Magnus Persson - Allan Hagman 87044 87038  Arboga BK

3 4 178 57.05 Marita Indersons - Ulla Myrelid 13502 17372  Kopings BS - Arboga BK

4 8 173 55.45  Mats Hollstrém - Ove Bergman 654 3721  Arboga BK

5 12 163 52.24  Rigmor Stridsberg - Sture Stridsberg 9813 7993 Arboga BK

6 10 161 51.60 Borje Karlsson - Rune Svensson 13521 2635 Kopings BS

7 9 154 49.36  Ingemar Nilsson - Leif Nilsson 53005 53800 Arboga BK - BK ALERT

8 3 151 48.40  Hakan Westberg - Bo Forslund 93301 8014 Arboga BK

9 6 150 48.08  Lars Lundgren - Erik Jirovsky 10275 2321 Arboga BK

10 13 149 47.76  Eva Andersson - Tommy Larsson 3585 7934  Arboga BK - Kdpings BS

11 11 143 45.83  Tommie Brunzell - Mikael Rydstedt 10257 90657  Arboga BK

12 7 139 4455  Gisela Sjoholm - Inge Johansson 53325 53324  Arboga BK

13 14 121 38.78  Gun Gyldén - Inger Mattsson 30596 27689  Arboga BK

14 1 116 37.18  Christina Davidsson - Ulf Nilsson 43004 11234  Arboga BK
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vvast Alla

Par  Kontr Res Poang Par  Kontr Res Poéang Par  Kontr Res Poéng Par  Kontr Res Poéng
3 2 4vyDS+1690 110 10| 7 4 4vN= 620 100 20| 4 3 4v V= 620 9.0 3.0 9 1 3NN= 600 12.0 0.0
6 10 4vD S +1690 11.0 10| 9 11 4v N= 620 100 20| 8 5 4v V= -620 9.0 3.0| 4 3 INN+2 150 10.0 2.0
911 4v S= 420 80 4014 1 4vN= 620 100 20| 9 1 4v V= -620 9.0 3.0|10 12 3¢ S+1 130 8.0 4.0
8 13 3vy N+1 170 6.0 6.0 8 13 44D O -3 500 6.0 6.0(13 6 4v V= -620 9.0 3.0| 7 11 INN+1 120 40 8.0
14 1 2¢ S= 90 40 80| 3 2 5vN-1 -100 20 100| 711 4vV+1l -650 30 9.0/ 8 5 INN+1 120 40 8.0
7 4 34V-1 50 1.0 11.0| 6 10 5¢ N-1 -100 2.0 10014 2 4vO+1 -650 3.0 9.0(13 6 INN+1 120 40 8.0
12 5 34 V-1 50 10 11.0|12 5 5¢N-1 -100 2.0 10.0(10 12 4vDV= -790 0.0 12014 2 3NN-1 -100 0.0 12.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen

Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
11 13 INN+1 120 120 0.0|11 13 24 S= 110 120 0.0(10 7 3vO= -140 12.0 0.0| 9 13 44 V-2 100 12.0 0.0
812 2v S= 110 100 20| 5 4 2vN-1 50 9.0 30| 2 8 4v 0= 620 7.0 50| 2 8 34V-1 50 9.0 3.0
5 4 INO-1 50 70 509 6 3¢ S-1 50 9.0 30| 913 4v0O= 620 7.0 5.0|10 7 3vV-1 50 9.0 3.0
9 6 INO-1 50 70 5014 3 INO= 90 6.0 6.0(11 3 4vO= -620 7.0 50|11 3 la V= -80 6.0 6.0
10 2 INO= 90 4.0 8.0|10 2 24 S- -100 40 80|12 1 4v0O= -620 7.0 5.0|12 1 34DN-1 -100 4.0 8.0
14 3 24 N-1 -100 2.0 100| 8 12 2#O+1 -110 20 100| 6 5 4vO+1 -650 20 1006 5 1s4V+1l -110 2.0 10.0
1 7 2vS-2 -200 00120|1 7 240+3 -150 0.0 12014 4 4vy O+2 -680 0.0 120|14 4 3NO= -400 0.0 12.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS

Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
14 5 2v O+2 -170 12,0 0.0(12 4 4v V-2 200 11.0 10| 8 7 3NS+2 460 120 00| 8 7 44D O -4800 12.0 0.0
3 9 4v 0= -620 6.0 6.0|14 5 4v O-2 200 11.0 10|12 9 4vy N= 420 100 20|11 2 34 O-2 100 10.0 2.0
7 6 4v 0= -620 6.0 6.0/ 3 9 4¢v0O-1 100 40 80(14 6 3NS= 400 80 40(12 9 24 0-1 50 7.0 5.0
10 1 4v O= -620 6.0 6.0| 7 6 4v V-1 100 40 80| 4 10 34 S+2 200 6.0 6.0(13 5 34 0-1 50 7.0 5.0
11 8 4v 0= -620 6.0 6.0|10 1 4vO-1 100 40 80| 1 3 3NN-1 -50 2.0 100| 4 10 24 O= -110 4.0 8.0
13 2 4v 0= -620 6.0 6.0|11 8 3v O-1 100 40 8011 2 3NS-1 -50 2.0 10.0(14 6 24 O+1 -140 2.0 10.0
12 4 49y O+1 -650 0.0 12.0|13 2 4v O-1 100 40 80(13 5 3NN-1 -50 2.0 100( 1 3 5#4DS-1 -200 0.0 12.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV

Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
13 10 54 V-1 100 120 00| 511 5#V-2 100 120 0.0(10 9 3¢ O= -110 11.0 1.0{13 4 3NO-1 100 12.0 0.0
1 6 5#S-2 -200 9.0 3.0|13 10 54V-1 50 100 20(14 8 3¢ V= -110 110 10| 6 12 3vS-2 -100 10.0 2.0
14 7 54S-2 -200 90 30| 2 4 44DN-1 -100 80 40| 111 1¢ V+3 -130 80 40| 111 INO+2 -150 4.0 8.0
511 44 V= -620 50 7.0|12 3 3vVv+2 -200 6.0 60| 612 2NV+1 -150 6.0 6.0 2 7 2NO+1 -150 4.0 8.0
9 8 4e V= -620 50 7.0|14 7 4vV+1l -450 4.0 80| 2 7 3NV= -400 30 90| 3 5 2NO+1 -150 4.0 8.0
12 3 54 V= -650 2.0 100| 1 6 4vV+2 -480 2.0 10013 4 3NV= 400 30 90|10 9 INO+2 -150 4.0 8.0
2 4 44DV= -790 0.0 120 9 8 44DN-3 -500 0.0 120 3 5 3NV+2 -460 0.0 12.0|14 8 INO+2 -150 4.0 8.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla

Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
3 8 INN+1 120 110 10| 1 5 6NV-2 100 120 00| 2 6 54 0-1 100 11.0 10| 2 6 3NN+1 630 11.0 1.0
4 6 INN+1 120 11.0 10(14 9 3NV-1 50 10.0 2.0(12 11 54 O-1 100 11.0 10| 5 7 3NN+1 630 11.0 1.0
11 10 34 V-1 50 80 40| 212 3«#V+1 -130 80 40| 4 9 44 0= -620 6.0 6.0| 3 13 3NN= 600 6.0 6.0
212 24 V+1 -140 50 7.0 3 8 4vO+1 -450 50 7.0|5 7 44 0= -620 6.0 6.0/ 8 1 3NS= 600 6.0 6.0
7 13 34 V= -140 50 7.0| 713 49 0O+1 -450 50 70| 8 1 4e V= -620 6.0 6.0|12 11 3NN= 600 6.0 6.0
14 9 24 V+2 -170 20 100| 4 6 3NV+2 -460 10 11.0| 3 13 44 V+1 -650 1.0 11.0| 4 9 2¢ N+2 130 2.0 10.0
1 5 2NDN-2 -300 0.0 12.0|11 10 3NV+2 -460 1.0 11.0(14 10 44 O+1 -650 1.0 11.0(14 10 3NN-1 -100 0.0 12.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen

Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
510 4v N+1 650 120 00| 6 8 5¢ O-3 300 120 0.0(10 3 3« V-1 100 120 00| 6 11 24 N= 110 12.0 0.0
4 1 4v N= 620 100 20| 4 1 24 S+1 140 100 20| 113 1¢ S+1 90 100 2.0{10 3 INV= -90 10.0 2.0
6 8 2v N+3 200 70 503 7 24S= 110 80 40| 611 INN-1 -100 70 50| 7 9 34N-2 -100 80 4.0
13 12 2v N+3 200 7.0 50(14 11 24 S-1 50 60 607 9 2¢S-1 -100 70 50| 113 INV+2 -150 50 7.0
3 7 29y N+2 170 20 100| 510 34 S-2 -100 4.0 80|14 12 24 O= -110 40 80| 4 8 2NV+l1 -150 5.0 7.0
9 2 2vy N+2 170 20 1009 2 340+2 -150 2.0 100 4 8 3¢ S-2 -200 20 10.0|14 12 INV+3 -180 2.0 10.0
14 11 2v S+2 170 2.0 10013 12 3vyV+2 -200 0.0 120 5 2 4¢DS-3 -800 00 120| 5 2 3«4DN-2 -300 0.0 12.0
25 Nord OV 26 Ost Alla

Par  Kontr Res Poang Par  Kontr Res Poang

5 9 44DN-1 -100 12.0 00| 8 10 24 S= 110 12.0 0.0

2 1 340+ -170 80 40| 2 1 3vV+l -170 8.0 40

712 34V+1l -170 80 40(5 9 3vO+1 -170 8.0 4.0

8 10 34 V+1 -170 8.0 4.0(14 13 3v O+1 -170 8.0 4.0

6 3 54DN-3 -500 3.0 906 3 4v 0= -620 2.0 10.0
11 4 54DN-3 -500 3.0 90| 712 4v0O= -620 2.0 10.0
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14 13 44 O= 620 0.0 12.0|11 4 4vO= -620 2.0 10.0
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